

Tandem – Bruchrechnung 3

Berechne und wandle in den gemischten Bruch um-Partner A

Partner A beginnt

1	$3\frac{1}{5} + 2\frac{3}{5}$
2	$3\frac{5}{11} + 4\frac{2}{11} = 7\frac{7}{11}$
3	$6\frac{2}{3} - 3\frac{1}{3}$
4	$12\frac{5}{16} - 8\frac{3}{16}$
5	$\frac{17}{12} - \frac{9}{12}$
6	$\frac{7}{8} - \frac{5}{8} = \frac{2}{8} = \frac{1}{4}$
7	$\frac{11}{6} + \frac{13}{6}$
8	$\frac{9}{20} + \frac{21}{20} = \frac{30}{20} = \frac{3}{2}$
9	$\frac{11}{15} - \frac{6}{15}$
10	$\frac{71}{8} - \frac{23}{8} = \frac{48}{8} = \frac{6}{1} = 6$
11	$\frac{11}{20} + \frac{4}{20}$
12	$\frac{7}{4} + \frac{7}{4} = \frac{14}{4} = \frac{7}{2}$
13	$\frac{13}{6} + \frac{37}{6}$
14	$\frac{101}{8} - \frac{57}{8} = \frac{44}{8} = \frac{11}{2}$
15	$\frac{91}{27} - \frac{58}{27}$

Tandem – Bruchrechnung3

Berechne und wandle in den gemischten Bruch um-Partner B

1	$3\frac{1}{5} + 2\frac{3}{5} = 5\frac{4}{5}$
2	$3\frac{5}{11} + 4\frac{2}{11}$
3	$6\frac{2}{3} - 3\frac{1}{3} = 3\frac{1}{3}$
4	$12\frac{5}{16} - 8\frac{3}{16}$
5	$\frac{17}{12} - \frac{9}{12} = \frac{8}{12} = \frac{2}{3}$
6	$\frac{7}{8} - \frac{5}{8}$
7	$\frac{11}{6} + \frac{13}{6} = \frac{24}{6} = \frac{4}{1} = 4$
8	$\frac{9}{20} + \frac{21}{20}$
9	$\frac{11}{15} - \frac{6}{15} = \frac{5}{15} = \frac{1}{3}$
10	$\frac{71}{8} - \frac{23}{8}$
11	$\frac{11}{20} + \frac{4}{20} = \frac{15}{20} = \frac{3}{4}$
12	$\frac{7}{4} + \frac{7}{4}$
13	$\frac{13}{6} + \frac{37}{6} = \frac{50}{6} = \frac{25}{3}$
14	$\frac{101}{8} - \frac{57}{8}$
15	$\frac{91}{27} - \frac{58}{27} = \frac{33}{27} = \frac{11}{9}$